
447 L      =       ........................................................................................................     cm³

63 cL      =       ........................................................................................................     dL

90,2818 dm³      =       ........................................................................................................     L

54 dm³      =       ........................................................................................................     cL

767,3 dL      =       ........................................................................................................     L

99 cL      =       ........................................................................................................     dL

10 dL      =       ........................................................................................................     L

333,9 cL      =       ........................................................................................................     mL

35,31 m³      =       ........................................................................................................     L

939 L      =       ........................................................................................................     cm³

14,2695 dm³      =       ........................................................................................................     L

40 dL      =       ........................................................................................................     cL

16,2 dL      =       ........................................................................................................     cL

29,6 L      =       ........................................................................................................     cm³

70 cm³      =       ........................................................................................................     mL



447 L      =     447 dm³      =     447000 cm³

63 cL      =     6,3 dL

90,2818 dm³      =     90,2818 L

54 dm³      =     54 L      =     5400 cL

767,3 dL      =     76,73 L

99 cL      =     9,9 dL

10 dL      =     1 L

333,9 cL      =     3339 mL

35,31 m³      =     35310 dm³      =     35310 L

939 L      =     939 dm³      =     939000 cm³

14,2695 dm³      =     14,2695 L

40 dL      =     400 cL

16,2 dL      =     162 cL

29,6 L      =     29,6 dm³      =     29600 cm³

70 cm³      =     0,07 dm³      =     0,07 L      =     70 mL


